Algebra IA – Final Exam REVIEW
You will have until the day of your final exam to complete this review for 6 points extra credit, you must show all work on another sheet of paper.  Answers to this review will be on my website www.jbhsalgebra.weebly.com  .  IF YOU DO NOT STUDY FOR THIS FINAL EXAM YOU MAY WELL FAIL THE EXAM AND THEREFORE, THE CLASS FOR THE SEMESTER!!
1.  Evaluate x² - y for x = 8 and y = 2.

2.  Simplify:  5(x – 4) – 2(2x + 6)


3.  Simplify the expression:  6x – 2y + 3 + 2x + 3y

4.  Write 3 different fractions to equal 
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Evaluate #5 - #6 for a = 4, c = -3, t = 1.

5.  
[image: image2.wmf]t

c

a

+

×

2





6.  
[image: image3.wmf]c

t

a

+



7.  Identify the independent and dependent variables in the situation.  The longer Claudia practices her dance routine, the better she gets at her dance scores.  
8.  What type of correlation would you expect from comparing the number of hours a basketball player practiced her free throws and the number of free throws made during a game score?
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9.  What type of relationship is shown in this scatter plot? 


10.  Is the data in number 9 called discrete or continuous?
	[image: image24.png]


11.  Write a story that best describes of the motion of a 

       car indicated by the graph?


12.  Is {(1, 5), (2, 6), (3, 7), (4, 8)} a function and explain why or why not?
	x

	0

	1

	3

	4


	y

	-5

	-3

	1

	3



	13.  Graph this table on a coordinate plane?  

  


14.  Identify the independent and dependent variables in the situation.  The amount of water in Lake Travis increases as the rain in Central Texas accumulates.
	15.  Graph this table of values?

x

y

-2

1

-1

2

0

3

1

4

   


16.  What is the range of the function y = x + 9 when the domain is {1, 4, 5}

17.  Give the domain and range of the relation.  
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	18.  Does this table of points create a function.  Why or why not?
X
3

2

5

2

Y
4

4

1

5




	19.  Write a function rule for this table?

x

y

0

0

1

3

2

6

3

9




20.  Find the range for the function     
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    when the domain is {-2, 0, 1, 8}

	21.  Make a table of values (at least 5 points) for this function rule 
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22.  A motel charges $135 per night for a room.  Write an equation to express how much it would cost for x days.

23.  Is the equation y = 2x – 1 a linear function?  Why or why not?
24.  Solve for a:

a + 9 = 2



25.  Solve for x:   2x – 7 = -29?
26.  Solve for x:   
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27.  Solve for c:

7 = 8 – c



28.  Solve 9(z– 1) = 9z – 8.

29.  Solve for w:  3w – 8 - w = 10



30.  Solve for x:   6x – 1 = 3x + 17?
31.  Solve:  
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32.  Solve 2k + w = c for w.

33.  Solve 3x - 4y = -24 for y.

34.  Solve 
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35.   Rewrite 
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 in Standard Form 
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36.  The graph shown has which type of correlation?  
37.  The longer a person sits in the barbers chair the shorter their hair gets.  What type of correlation is this situation?  
38.  Movie-by-Mail costs $7 to join.  Each movie that is rented costs $3.95.  Let x represent the number of movies.  Identify the independent and dependent variables.  Then, write a rule in function notation for the situation.
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39.  What is the domain of the function shown on the graph?  
40.  What is the domain and range of this function?
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41.  Create a mapping that best represents the function 
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42.  Create a table, graph and mapping of this function?  
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43.  Which of the below are functions?  Explain why or why not for each one.
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	x
	y

	-3
	6

	-1
	8

	0
	2

	1
	2

	3
	6


44.  Would the graph of the relationship between the number of gallons of gasoline Mr. Johnson purchased at $2.49 a gallon and the total cost of his gasoline be a linear graph or not?  Explain.
45.  Mr. Henson’s math class calculated probability with carnival games.  Everyone started with $145 and games cost $5 each to play.  Write an equation that represents, m, the amount of money the student has left in terms of g, the number of games played?

	46.  Determine the slope of the line shown in this graph.





47.  What is the domain and range of the function shown on the graph?  

48. Draw a graph that could represent a company’s profits over a year’s time if profits decreased for a few months, then remained constant for a few months, then decreased again and then became zero?

	49.  Graph a line that passes through the point (5, -1) and has a slope of 0.



	x

	y


	1

	3


	6
	8


	18
	20

	19
	21



	50.  Is the relationship between the data linear?  Why or why not?



	51.  Find the rate of change for this situation and explain what it means.       

                                                





	52.  Find the rate of change for the data in the table.

Hours

worked

Amount

Earned

1

$20

5
$80

6
$95
11
$170



53.  What does the 7 represent in the equation y = 2x + 7?

	54.  Graph y = -
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x + 3 on the coordinate plane?


55. Graph the function 
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	56.  Write the equation of the line on this graph?       




57.  Find the slope of the line passing through the points (2, -7) and (8, 2).
58.  Find the slope of the line passing through the points (-4, 9) and (4, 9).
59.  The line segment on the graph shows the altitude of a landing airplane from the time its wheels are lowered to the time it touches the ground.  What are the x and y intercepts for this graph and what is the slope?
60.  What are the x-intercept and y-intercepts of 3x + 9y = 36?
61.  The cost of renting a car for 1 day at Cars Plus is $30 plus 19 cents per mile driven.  The cost of renting a car for 1 day at Need-A-Car is $30 plus 18 cents per mile driven.  In a graph of the cost of a car rental, what does the initial $30 represent?
	x
	-9
	-6
	-3
	0

	y
	4
	2
	-2
	-4


62.  The ordered pairs in the table are contained in the graph of a linear function.  What are the x- and y-intercepts of the graph of this linear function and what is the slope?

63.  Tyler wants to buy a video-game system for $675.  He can pay for the system in 12 months if he pays $75 now and $50 each month.  How will the number of monthly payments be affected if Tyler pays $75 now and $120 each month?
_______________________________________________________

64.  What are the x- and y-intercepts of the function graphed?
65.  Write an equation of a line with a slope of -9 and a y-intercept of 2. 

	x
	2
	5
	11
	12

	y
	3
	0
	-6
	-7


66.  The table shows various values for x and y.

Which equation best describes the relationship between x and y?
67.  Ashley’s cell phone costs $65 a month for 1500 texts.  If she goes over 1500 texts, it costs 5 cents per text.  Write an equation that best represents, c, the cost of her plan based on the number of texts over 1500, t?

	68.  Graph the equation 2x – 5y = 5 on the coordinate plane.


69.  What is the y-intercept of 2x + 5y = -10?
70.  Write an equation (y=mx+b) that describes the line with a slope of 
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 that contains the point (8, -1)?

71.  Determine the equation of a line that passes through the point (4, 0) and has a slope of -3.

72.  Desmond wants to take guitar lessons.  The one-time registration fee is $90, and each lesson costs $10.  Write an equations that Desmond can use to determine x, the number of lessons he can take if the wants to spend c dollars?
73.  Write an equation of the line that passes through (1, -3) and (-4, -3):

74.  An equation of the line that passes through (-1, 1) and (2, 10) is:
75.  What is the slope of a line that is parallel to 
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76.  What is the slope of a line that is perpendicular to 
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77.  Write an equation of a line that is parallel to 
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 and goes through 
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78.  Write an equation of a line that is perpendicular
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Number of times Mrs. Montgomery falls





Days Snowboarding
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